Carbon Reactivity

Carbon Reactivity

1. Consider the three compounds below.
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b. For each compound, identify the atom that is most susceptible to attack by water (this is the most
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c. Add water across the bond and predict the products of the hydrolysis reaction. What new functional
groups are created? o O
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d. Which of these compounds do you think is most likely to be hydrolyzed? Explain your choice.
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2. Draw a 3-step reaction process for the hydrolysis of compound C from problem 1. The first step should be an
attack on the electrophile and breaking of the double bond. The second step is an equilibrium step. The third
step is reformation of the carbonyl and breaking of a bond.
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3. Now consider this compound. Do you think it is more or less likely to be
hydrolyzed than the ester in problem 1A? Consider the following two
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a. Think critically about what happens in the first step of the 0 /\

reaction. Which is most susceptible to attack by a nucleophile?
Explain your choice.
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b. Now draw the transition state for each compound. Which is more stable? Why does that influence the
likelihood of a hydrolysis reaction?
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4. Predict the products of the condensation reaction between these two compounds:
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